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STATEMENTS |
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* There is a ‘Cool off time’ of 15 minutes in addition to the writing time. |

Use ‘cool off time’to get familiar with questions and to plan your answers. |

Read questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

* Give equations wherever necessary.

Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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PART -1
(ACCOUNTANCY) (40)

I. Answer any 5 questions from 1 to 6. Each carries 1 score. (5x1=5)

1) A document which containing all the terms and conditions of partnership is
called

A) Terms and References B) Partnership Deed
C) Articles of Association D) None of the above

2) When the reconstitution of partnership is happens ?
1) Admission of a partner
i) Death of a partner
iii) Retirement of a partner
A) 1and ii not iii B) iand iii
C) 1i and iii not i D) i, ii and iii
3) Sacrificing ratio is
A) Old Ratio — New Ratio
B) New Ratio — Old Ratio
C) New Ratio — Incoming partners Share
D) Old Ratio — Gaining Ratio

4) At the time of retirement, unrecorded assets are transferred to
A) Debit side of partners capital account
B) Debit side of revaluation account
C) Credit side of revaluation account

D) Credit side of partners capital account

5) Realisation account is prepared at time of

6) At the time of dissolution of firm, unrecorded assets are taken over by a partner are
shown in

II. Answer any 4 questions from 7 to 11. Each carries 2 scores. - (4x2=8)

7) What do you understand by partnership ?

8) Profit and loss appropriation account is prepared at the end of each and every year
but profit and loss adjustment account is not necessary. Explain.
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PART -1
(ACCOUNTANCY) (40)
L. 1)o@ 6 Aleow)as 8al0a)ewRglm agomsilalo 5 agepEMm QOMEODS I ).
eosediimye 1 eapod aflmo. (5%1=5)
1) asmoglomaloaloeamia ageo mlenimumdegio QlaIMOE:E10 @SB
BOEUQI6M' .
A) afleninwmeglo Oanommo B) 18,0801 co6l

C) @pdgles|id 8oad aemomiewau® D) EDCUOWOM DL
2) a1modlem@eOn alym:qundaimo MoclBniMmemeEaowd ?
1) aIB0Hl:810S [IEUNMIVAQETS
1) 808 aoemeq|SyemIonR
1ii) 18,08 Alleaeeyemiod
A) i9oii o B) i¢o iii ®o
C) 1i 9o il ®o D) i, ii and iii
3) ®Pm @MYaIO®mo ag)MO :
A) al19® @IMYAIOMmO — al}@IQ @MAIOMo
B) an@iw @mialomo — ale®@ @omialo®o
C) i@l @omiaiomo — &Sy aumm aleoslwies alladi®mo
D) al19@ @omialomo — nLeMoImalomo
4) alloaglendd MaET CR6IOQSIMOBT ARWHD ag)lleses ees:n0g0 2193y ?
A) aim08lwes myeim @entenslan ewenllg aluo
B) anymd oeymideme @osesvedle aavenly alto
C) aiymdayeymldem @oendengla ele-wlg alveo
D) a1s:06l@)es mieiwm @eevenslom e@alg alto
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8) ernemay allrle@ow @IEHDENE BIERD AUAHUATIOR®Io @AINOMO BBV
S}, AG)IMIE LI0EMaY (E-dlH06M BRHHVENE ABaHo BMIOI MYOOILHENS
@0 )alR). AUNEIE:DEe ).
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9) Give the circumstances under a partnership open current account. Explain.
10) What is Goodwill ?
11) The Partnership Deed of A and B does not includes to give profit on the basis of

capital invested. But A insist to share the profit on the basis of capital invested.
Comment.

ITI. Answer any 5 questions out of 6 from 12 to 17. Each carries 3 scores. (5%3=15)
12) What is Hidden Goodwill ? How it is find out ?
13) Journalise the following items at the time of retirement of a partner.
a) For increase in the value of an assets,
b) For decrease in the liabilities.
14) A, B and C are partners sharing profit and losses in the ratio of 4:3:2. B retired from
the firm. The new profit sharing ratio of A and C were 5:3. Calculate gaining ratio.
15) The circumstances under in which the dissolution of a partnership takes place ?

16) At the time of dissolution of a partnership firm, the amount due to the partner is paid
off. Which account is debited. J ustify the reasons.

17) Suppose you wish to become a partner of a firm, which method you may suggest to

adopt maintain capital account of the partners. J ustify the reasons.

IV. Answer any 2 questions from 18 to 20. Each carries 6 scores. (2x6=12)

18) A firm have the following details

I) Profit of last five years (Rs. 20,000, Rs. 35,000, Rs. 30,000, Rs. 20,000 and
Rs. 25,000)

II) Capital invested Rs. 2,00,000 and rate of return (Normal) 8%.

III) The firm expect the same average profit for the next 3 years.
a) Calculate Goodwill on the basis of average profit with 3 years purchase.
b) Calculate Goodwill on the basis of super profit with 3 years purchase.

¢) Calculate Goodwill on the basis of capitalization method of super profit.
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19) A, B and C are Partners of a firm sharing profit and losses in the ratio of 3:2:1.
respectively. The Balance Sheet of the firm as on 31 December 2023 is as under.

Balance Sheet of A, B and C as on 31-12-2023

Liabilities Amount Assets Amount
Creditors 9,500 Cash in hand/Bank 1,250
Bills payable 2,500 Debtors 8,000
Reserve fund 6,000 Less : Provision for

doubtful debt 250 7,750

Capitals :
A —-20,000 Stock 12,500
B — 15,000 Motor van 4,000
C - 12,500 47,500  |Machinery 17,500
Building 22,500
65,500 65,500

B retired from the firm on the above date subject to the following conditions.

a) Goodwill of the firm to be valued at Rs. 9,000'and is not to be shown in the books

of the firm. i
b) Machinery would be depreciated by 10% and Motor van by 15%.
c) Stock would be appreciated by 20% and Building by 10%.
d) The provision for doubtful debts would be increased by Rs. 975.
e) Liability for workmen compensation to be extent of Rs. 825 would be created.
It was agreed that the new profit sharing ratio of A and C is 3:2 respectively.

Prepare the Revaluation Account, Capital Account and the Balance Sheet of the

firm after the retirement of B.
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S40M 604 MOdaIMEeR alsoslaaoem. 2023 aslmvoanid 316el cuodaimasied
rUORINDMY ol o6 )08 BT @6 40M).
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20) Sankar and Manohar were partners in a firm sharing profit in a ratio of 3:1. On
1* March 2023, the firm was dissolved. On that date, the Balance Sheet of the firm
was as follows.

Liabilities Rs. Assets Rs.
Loan 70,000 Cash 20,000
Creditors 1,30,000 Building 5,00,000
Capitals : Stock 30,000

Sankar 3,00,000 Pand LA/c 60,000
Manohar 1,10,000
6,10,000 6,10,000

Building realised Rs. 6,50,000 and stocks Rs. 12,000, creditors were settled at
Rs. 1,29,000. The firm had a joint life policy of Rs. 5,00,000 which was surrendered
for Rs 1,27,000. The annual premium paid on the joint life policy was debited to
the profit and loss account.

Prepare realisation, capital and cash accounts.

PART - 11
(ANALYSIS OF FINANCIAL STATEMENT) (40)

I. Answer any 5 questions from 21 to 26. Each carries 1 score. (5%1=5)
21) If shares are issued at premium, the premium amount is transferred to
A) Share capital account B) Securities premium account
C) Profit and loss account D) General reserve account
22) What is the maximum amount of capital a company authorised to issue as per its
Memorandum of Association ?
A) Issued capital
B) Subscribed capital
C) Authorised capital
D) Paidup capital
23) Debenture holders are
A) Owners of the company
B) Creditors of the company
C) Employees of the company
D) Directors of the company
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20) w040 BEMOan0Yo 3:1 ag)m @OMIAIOMENIM LI0Go alBsISIM alg:0g]egoem).
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@26 OB LM ®).

Y 70,000 300t 20,000

HSHOAD 1,30,000 odnglso 5,00,000

@elImo BROBE) 30,000

WD 3,00,000 RIO@MaY @RHEV6NE 60,000
@BMOaOd 1,10,000

6,10,000 6,10,000

od:gsoaliqa Rs.6,50,000, equossialga Rs. 12,000,8:5660066568:053010 @A @)
Rs. 1,29,000. quaoaimewim 5,00,000 0401@365 ¢80Q(@ eelad @atoglmi] 96nsow
@M. @® MOMsd eale’ 1,27,000 aiaigoeioimm,. ez0@ 60l Galtog
Mileeowf @So) 0B lafldlwo e10BMY @RaOTMElERISE dAeG O21Q).

O2IMATOM ClReHRIGTVAHND @REHVEMBI0 & i0aflgM @HODENBL0 & soaH
BRHOVENBL0 ROOILEIH:. ! -

PART -1I
(ANALYSIS OF FINANCIAL STATEMENT) (40)

L 21 oo 26 cuanwgs 8a10c)@sglad agomssiele 5 agepamiln 9EmEaaRmid:.
@98r20Tlmo 89800 emod allme. (5%1=5)

21) (o NolEma 6auOIBR® NaGiewInemeElm nlalaoe @ye: agallesaendem’
£6)HDO0LMN@) ? :
A) 0eIWm @RHHDENS B) emayalgl nfldleoe @osovens
C) eloeMeY @BV . . D) &moad dlmdq] @oeosns

22) &y &mum] @eaflen 6asamOndeNse Boald @REMIMIBWAHD (ald:000 OE:ISIHRIND
W B:0060 [SIATEWHHIUYM BLAIWMETOR alo@IU] MIBWIOS Galed) ?

A) Doy’ B 30allnad
B) avenjmieeieeni 621 80a00l mzeiwmo
C) @oUflaym mieimo
D) alémasafes 62a0al Meimo
23) HSq]@ 9SDEWD
A) &IOS HSABHRIEM
B) &muafles) S50 M1 06
C) Smuliens &oimenonem’
D) e&minde® afle@Oulenimaledsm
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24) When debentures are redeemed out of profit, the amount is transferred to

A) Profit and loss account
B) Debenture redemption reserve
C) Securities premium reserve
D) Capital reserve
25) Which is not a component of a company’s financial statements ?
A) Balance Sheet B) Statement of profit and loss
C) Trial Balance = D) Notes to accounts

26) Which of the following is used to measure the profitability of a ICOmpariy ?

b

A) Liquidity ratio B) Profitability ratio
C) Solvency ratio D) Activity ratio
II. Answer any four questions from 27 to 31. Two scores each. | (4%2=8)

27) Adani Port Ltd. is a “Public limited cbmpanif”_. Dc} yéu agree 7 .’Iﬁstify.- it
28) What is debenture ? =5y
29) What do you understand by redemption of debenture ?

30) Mention any four tools for analysis of financial statement._ :

31) What is cash flow statement 7.
III. Answer any five questions from 32 to 37. Each carries 3 scores. (5%3=15)
32) Draw a chart showing categories of share capital.

33) Give journal entries for
a) Transfer of application money
b) Amount due on allotment

¢) Money refunded on rejected application.
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24) &So @B eloeEBM rm AlloeneseeEILOD M OOBDIRo H.2IQYOASIME
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A) BIORMaY @R&eDENElEelIHs
B) @salmo alloenssienelod @oymd aoaenandiealss
C) emaydd falwo @rsevedesios’
D) c'ngejwm SO @OV ELlH6
25) SMUMBIOS WOMIETTE (0 IANWS SISO aQe ?
A) euoeidmy axfig B) einemay (aIqgoaIm
C) s eruoei@my D) @mosmy’ g3 @eeDens’

26) ®96990@MAIRI® a@®IEM &0} SMUAI@OS LIDEIIWY® SEMEHHEIMNOW]
©aIBWIUIHOIM@ ?
A) ellafladigl eoeauyd
C) emodaudmi eneayyo

B) elaoadigenfielig] eoeauyo

D) @oglalgl eneauso

27 ajomd 31 cuenw)as @aloaiamglad agamalalje MOSLIRAMIM HEMEODYI®H:.

eem) 8apod allmo. _ (4x2=8)

27) @pcoMml 6aldds elalgay’ 80y HalomEmeleIomadaImamosm — 600 Lcummommcscmos
G@oaéloes)‘;ﬁngssr@o ? (@B D cB6) ).

28) H:Sa|@6AMOSEIND ?

29) H:Sa|(@o QleMesien® ag)MmIOE:INE ag)mIEN @OAMABILEIOM® ?

30) avomIEmile: al@ile Alltedeimo H21YPIMEIMISS ae®mesleijo MORI S8 IE-R
allvaseimo £.21Q)id:.

31) aleme?OPIH6) (B y0aH 8g0) al(@ild agmoeeInD ?
32 oyo@d 37 auen®)ag @a106)mBglad agomeslaile 5 agepaim’ 9mmEeny @)@
808maamilmye 3 @apod all@o. \ ol : (5x3=15)
32) &0a0al aieiwmeslen alleomemsud oe;omﬂaamgnﬁ eib,; 21005 QIORIH:.
33) amem@d ag)M(SIHD GPYOOIHS ). s,

a) £aYQD AOEAIHHIAIMO HEGHDIRO 6.2IYIEMUORD

b) @seogena@moe] Mzl mis: HOulwor:3eMIwD

¢) mlomile) @REalHARIEd alémo Gildles: madeyemiow
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34) XY company Ltd. issued 8,000, 14% debentures of Rs. 100 each at a discount of
10% payable in lump sum on application. Applications were received for 10,000
debentures. Excess application money was refunded on allotment. Pass the journal
entries in the books of the company. )

35) Specify the objectives of financial statement.
36) Calculate Debt-to-Equity ratio from the following information.
Total Debts Rs. 2,00,000.

Shareholders equity 4,00,000.

37) From the following information, calculate the current ratio.

Rs.
Total asset 6,00,000
Non current liabilities 1,60,000
Shareholder’s fund 4,00,000

Non current assets :

Fixed asset 3,20,000

Non current investment 2,00,000

IV. Answer any two que
d. was registered with the capital of Rs. 5,00,000 divided into 50,000

stions from 38 to 40. Each carries 6 scores. (2x6=12)

38) SR Co. Lt

equity shares of Rs. 10 each, Payable Rs. 3 per share on application. Rs. 4 per share

on allotment and the balance on 1* and final call. All the shares were taken up and

paid in full by the public.
‘Record the transaction in the journal of the company and show how they would

appear in the Balance Sheet.
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35)
36)

37)

oe:'lv'lo_nm Dol 6’-'”(9,;4 omldeadd 10,000 HSo|(@6MmBEIOS @8ld:UOaleMo
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39) Current asset
Current liability
Inventory
Operating expenses
Revenue from operation

Cost of revenue from operation
Calculate :

1) Current ratio

2) Liquid ratio

3) Operating ratio

4) Gross profit ratio

2,50,000
1,00,000
50,000
80,000
5,00,000
3,00,000

40) Discuss the benefits of cash flow statement.
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